LIMITS REVIEW

TECHNIOQUES FOR EVALUATING LIMITS: Approach in this order.

1. MSubstitution

2. F to rename the function
3. Rationalize the numerator
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ONE-SIDED LIMITS AND CONTINUITY

Definition of ¢ontinuity at a poift: f(x) is continuous at x = ¢ if and only if theses 3 conditions are met:
1. f(c) is defined.

2. Tm f(x) exists. (xh_l)n f)=lim, f)

X—=>c

3. m f(x)= f(c).
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INTERMEDIATE VALUE THEOREM
If @mn [, b] and k is between f(a) and f(b), then there exists at least one value ¢
in the interval (@, b) such that f(c)=k.
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Questions 5-11 refer to the following graph.
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The figure above shows the graph of y = f{x) on the closed iterval [—4 9} .
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26 1y £ be a continuous function on the closed tnterval [-2,7]. If 7(-2)=35 and f(7)=-3.

then ﬂx@e&mdime Value Theorem antees that
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 Which of the following lines is an asymptote of the graph of F{x) \n 54 ( j}g‘j * )
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33 If the horizontal line &W& for the graph of the function f , which of the folle
© statempenis must be tue?
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{Cy £} is undefined

Dy f{x)=1 forall x

wihich of the following could be the equation of the curve?
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What are all horizontal asymptotes of the graphof vy £
{A} y=-1 only
{B) y=2 only

C) ¥=—1 and y =2




